SECONDARY SCHOOL EXAMINATION — 2019 (ANNUAL)
Model Set (SCIENCE)
fa=
Candidates are required to give their answer in their own words as far
as practicable.
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Figures in the right hand margin indicate full marks
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arara fider - Genral Instructions :-

1. mw—w%a’r@v@ﬁ?,@v@—at@m—al
There are two section in this question paper. Section-A and
Section-B.

2, m—aﬁ4om§ﬁewﬁtmm1%m%|mﬁwﬁ%
gt @7 SR OMR-T5% W BT & |
Threr are 40 objective type questions in section —A’'. Each
question carries one mark. All objective type questions are to be
answered on OMR sheet.

3, w—aﬁmﬁm@aﬁaﬂﬁumél

Section-B, Consists of both short answer type questions and long

answer type questions.
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The number of short answer type question is twenty two (22). Out
of them, eight questions are from Physics, seven questions are
from Chemistry and seven questions are from Biology. Four
questions are to be answered from each subject (Physics,
Chemistry and Biology). Each short answer type question carries 2
marks.
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The number of long answer type questions is six (06) : two
questions each from Physics, Chemistry and Biology. Long answer
type questions from Physics carries 6 marks and from Chemistry
and Biology carries 5 marks each. Answer of one question from

Physics, Chemistry and Biology is compulsory.



ave—3 (axfrs u¥)

Section A (Objective Type Question)
Freiifea TeRieea ge 4 @ W faweT I 40 X 1 = 40
Select the correct option for the given multiple choice questions.

1. WWWW{@WWW??
A A TUYT B. 3@qa <4
C. Saa g D. g A 9l

The focal length of which mirror is taken negative ?
A. Plane mitror B. Concave mirror
C. Convex mirror D. All of these

2. ﬁﬂaﬁuﬂwqﬁ(ﬂaﬁ?aﬁﬂﬁw(mﬁwma%?
A f=R B.f=R/2
C.f=R/A3 ; D.f=R/4

What is the relation between focal length (f) and radius of

curvature (R) of a lens?
A.f=R B.f=R/2

C.f=R/3 D.f=R/4



=1 A {5 wmemw &1 sroade s 2 2
A g B. 5ol
C. sfiem D. &r1

Which medium of the following has greater refractive index ?
A. Air B. Water

C. Giass D. Diamond
T gfte @ fog gere gfte @ areqaw 9 @ -
A 25 Y B. 25 I

C. 25 fist D. 374 o134

The least distance of distinct vision for the normal vision is -
A. 25m B. 25cm
C. 25mm D. None of these

T FGTE FT B | (@) el fow @ ToR § oA e B

ghar e ?
A. & B. fien
C. ot D. e

Which colour of white light bends least when the light passes
through a prism ?

A. Violet B. Blue

C. Red | D. Yellow



frpe—gfe #1 fou o & S grr Jafda frar o1 wear @ 2
A Jadd o B. I9d i
C. fgwiemdl o D. 3¢ 4 w4

Myopia can be corrected by using -

A. Concave lens B. Convex lens

C. Bi-focal lens D. None of these

e wfoRerdmar iR axar & —

A TATE BT Adlg W B. TId® & AU BT &P W

C. orad & varef & gy 'R D, 799 9§ 9 |

The electrical resistivity of a conductor depends on -
A. length of a conductor

B. Cross-section Area of a conductor

C. Nature of a material of the conductor

D. All of these

forra ofda &1 Sl#maw & -
A T B. d@ic /HaT

C. 3f¥e D. sl

Sl unit of electric power is -
A. Watt B. Watt/hour

C. Unit D. Ohm



10.

e e faga Sat & 79 & —

A 3.6x10°J B. 3.6x10%J
C. 3.6x10°) D. 3.6x10%
The value of one unit electric energy is -

A. 3.6x10% B. 3.6x10%)
C. 3.6x10°J D. 3.6x10°J

o ¥ P— e T Bl 8 7

A. farga wifE dgd g IRY W H1E PRl B

B. faera Arex faga St &1 e ol § qeod 8|
C. gHPT 9& @ WRER el Bredl 8|

D. & fga W= arer IRy feg 9R g 2

Which of the following statement is not correct ?

A. An electric generator works on the principle of electromagnetic

induction.

B. An electric motor converts electrical energy into mechanical

energy.
C. Lines of magnetic force do not intersect each-other

D. A wire with a green insulation is usually the live wire of an

electric supply.



11.

12.

TAMT & amEea e & qrlt g1 @ 9 Sod wd) § —

A TP R RN faga 9d o e

B. gR#g & 31 faen

C. areis H yared faga arT @t feam

D. 7 ¥ g T

In Fleming’s left-hand rule, Middle finger of the left hand indicates -
A. direction of electric force applied on a conductor

B. direction of the electric field.

C. direction of the flow of electric current

D. None of these

g B AIOR ST &F YRl & faem @ gk & 7

A. SR d | Tl ga @1 3R

B. Sfé1T gg & IR ¢ @ 3R

C. g &= e o e FAfdaa =1 &

D. g7 4 31§ 78

What is the direction of magnetic field lines inside a magnet ?

A. from North pole to south pole
B. from south pole to North pole
C. direction of magnetic field lines are not fixed.

D. None of these



13.

14.

15.

TS Sl & wd A H se- e ?
A fEm B. |rfsaH
C. &1dq D. 374 | ¥

Which of the following is the nuclear energy source ?
A. Uranium B. Sodium

C. Carbon D. All of these

Hl FAT BT ARG AOYH AT E ?

A. Ca(OH), B. CaO

C. CaCO; D. Ca(HCO3),

What is chemical formula of quick lime?

A. Ca(OH), B. CaO

C. CaCO; D. Ca(HCO3)

ST B A FESA H Pl W B 19 gam BT § 7
A. 3ffedeE B. BggIoiA
C. sifedior 3R gEgoe QA D. asTH

Which gas is released from the anode during electrolysis of water?
A. Oxygen B. Hydrogen

C. Both Hydrogen and Oxygen D. Ozone
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16.

17.

18.

AT Hre @ TEEG qF 8 -

A. NaHCOQO; B. Na,CO310H,0
C. Ca(OH), D. CaCOQ;

The chemical formula for baking soda is -

A. NaHCO4 B. Na,C0O;10H0
C. Ca(OH), D. CaCO,

Hr—ar Taref e forewy uF Bl Al $L ol & ?
A. 3T B &R
C. oqu D. 394 ¥ P T8

Which substance changes the colour of blue litmus to red?
A. Acid B. Base

C. Salt D. None of these

fied it AN &1 pH 919 & —

A7 B. 8

C. o D. 105

pH value of milk of magnesia is -

A7 B. 8

C.9 D. 105



19.

20.

21.

fopg F W1 Ty TADIE € ?
A. ImafEE B. We®x
C. g D. Jaifa\

Which one of the following non-metals is lustrous?
A. lodine B. Sulphur

C. Bromine D. Selenium

e & ¥ BT o FeaRE AR 8 7

A. Al B. Na

C.Ca D. Mg

Which one of following metals is the most reactive?

A Al B. Na

C.Ca D. Mg
sf'mﬂmﬂwwzﬁmaaﬂamﬁsﬁaﬁﬁﬁmmﬁﬁ?ﬁ%?
A 2 B. 6

C.3 D. 4

How many electrons are present in the outermost orbit of oxygen
atom?

A 2 B. s

C.3 D. 4
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22,

23.

24,

R v BEfe dfe 2 R geraien WE § -
A. wrEifeated 3 B. tfessrss

C. BIeH D. VepIBid

Butanone is an organic compound whose functional group is -
A. Carboxylic Acid B. Aldehyde
C. Ketone D. Alcohol

rEetor & & WAt & dra fa smdy o ® 7
A T® e B. fg ey
C. 1 sy D. 74 ¥ @Y T8l

How many bonds are formed between two Nitrogen atoms ?

A. Single Bond B. Double Bond
C. Triple Bonds D. None of these
Yeas = BT A GH ® —

A. CiHan+2 B. CnH2n

C. CoHan D. C,Hanz

The general formula for an Alkenes is -

A. CrHanez B. CoH2n

C. CnHQn-1 D. CnH2-'1-2

11



25.

26.

27.

28.

s ama et § aradt B e # -

A7 B. 8 -

C.o D. 18

The number of periods in the modern periodic table is -

A7 B. 8

C.o9 D. 18
ﬂﬂgﬁwﬁtﬁﬁmﬁmmwﬁwqﬁaﬁﬂm%?
A. TRATY] WSS 984T 8 B. ORHEIV] WIS el |
C. TR WEw SuRafid war & D. g | Bl
How does the atomic size vary in going down a group?

A. Atomic size increases. B. Atomic size decreases

C. Atomic size does not change D. None of these

PI-HT gTEH THCHIEE a¥ B Urad Bl § 7

A Aftas B. fafeem

C. mgus D. g7 9 &I El
Which enzyme breaks down emulsified fat?

A. Pepsin B. Trypsin

C. Lipase D. None of these

WH Yed Yad &1 Bl § -

A. 80 mm B. 100 cm

C. 120 mm D. 130mm

12



The normal systolic blood pressure is -
A. 80 mm B. 100 cm
C. 120 mm D. 130mm

gfral ¥ 9T WYAYY gRT &1 WS ey & &g "I H e gy

AT ST & —
A g gRT B. ¥A10H gRT
C. 3 g1 D. 594 @ W+t

The food manufactured in leaves during the process of

photosynthesis is transported from leaves to various parts of

plants by —
A. Xylem B. Phloem
C. Stomata D. All of these

IF W BT ATH gdTd S Bold FIRT Bifde qae Ff qgRia wear &
A g B. o™
C. a= D. 374 & &

Name the plant which show vegetative propagation by grafting.
A. Wheat B. Rose

C. Paddy D. All of these

13



31.

32,

33.

FTAl~oR I frq ATod & ST BT & P
A woHfeTs B. ot
C. 3Har D. 378 ¥ ®ig a1

Kala-azar is caused by which micro-organism?
A. Plasmodium B. leishmania
C. Amoeba D. None of these

o= 3 w—ar fgferf gy 2 2

A. T g7 B. i@l g
C. udiar gs D. g 9 ®1E &

Which of the following is a bisexual flower?

A. Rose flower B. Pumpkin flower
C. Papaya flower D. None of these
qrg § worTEl Rerd B 8 —

A 3irdl ¥ B. Atai #

C. ol 4 D =9 3 ot &

The olfactory receptors in human are located in -

A. eyes B. nose

C. ear D. All of these

14



34,

35.

36.

TN IR & W WRee fhad Rt B § —

A yRRass | B. Aigenn ¥

C. U 4 D. srfarss §

All the voluntary actions of our body are controlled by
A. Cerebrum B. Medula

C. Pons D. Cerebellum

Siget ¥ g sl Enfad g € -

A drgy Tifr 9 B. sag I 4

C. sfgas A D. g4 ¥ I3 A8

In animals, growth hormone is secreted by
A. Pituitary gland B. Thyroid gland

C. Adrenal gland D. None of these

Rt @1 fagia g wfoarfea fear ?
A 4 B. @1 SRf4A
C. SN I 9 D. g% 9 &1 8

Who proposed principle of heredity ?
A. Mendel B. Charls Darwin

C. Jagdish Chandra Bose D. None of these

i5



37.

38.

39.

fal # forT ToRE B 8 -
A XY B. XX
C. XY 3R XX T=f D. g% & ®Ig &l

Sex chromosomes in female is -
A. XY B. XX
C. XY and XX both D. None of these

e § § 9 o Frelexeim ax 2 ?
A wiRE® B. eiidrar
C. e = D. feg] 9w

Which one of the following is the bio-degradable waste ?
A. Plastic B. Thermocol
C. Polythene _ D. Tissue paper

BTER Al IS fhd U9 @) Sfd ATBVT el 8 7
A =g YT B. TR U<yl
C. IENIS D. fagrR

Which state has arrangement of ‘Ahars and pynes’ for water

harvesting system?
A. Madhya Pradesh B. Uttar Pradesh

C. Maharashtra D. Bihar

16



40.

Wipfrs WAl 1 wEEE B AU ged Suga fawed e § | @I 87
A. HH IYLIT B. g =hYl

C. = I9gm D. 374 ¥ |0

Which is the most suitable choice for management of natural

resources?
A. Reduce B. Recycle

C. Reuse D. All of these

17



wvs—9 (Section-B)

A gEIfss u¥7 (Non-Objective Type Questions)

Hifos s (Physics)

o€ IT99 9T (Short Answer Type Questions)

Yo WS 1 9 8 OF oY ST I B U §1 39 | 1B 4 Ul B I |
(15x2=30)
There are short answer type guestions from question no. 1 to 8. Give answer

any four question out of eight short answer type questions. (15x2=30)

1, Yehrel B TRIaTH aml 31 ford 2
State the laws of reflection of light.

2. argee U @ gl B R W g @ vl © faw e faeer s
i iR 99 wfafds & ugf, MHR (A1E) v @ @ ford | 2
Draw a ray diagram for image of an object placed at centre of
curvature of a concave mirror. Write the nature, size and position
of the image formed by the mirror.

3. UHTE BT YHOH Y 3T FAT TSR 87 §H U IATEX Q@ qHEN | 2
What do you mean by scattering of light? Explain it by giving an
example.

4. faega fowg @1 aRaifia & ok g9@@1 S| 7w fordd | 2

Define electric potential and write its S| unit.

18



20Q) ufeRrer #1 ®Ig faga TR 5A fIEd arT ol €1 308 H S
I IR&ferT HRTY | 2
An electric iron of resistance 20 €2 takes a current of 5A. Calculate
the heat developed in 30s.

1 e 8 YET TE-gER @ RESE F A aed # ? 2
Why don’t two magnetic lines of force intersect each-other?
THEONG Fr ABRoNg Sull FEal § a7 ofav fored | 2
Write the two differences between renewable and non-renewable

sources of energy.

8. fpg gRRufT # waftm & <fdro e frm & wam fsar orer 82 2
In what conditions Fleming's right hand rule is used ?
e 9w 937 (Long Answer Type Questions)
fepeal T U9 BT TN 3 | 243+1=6

Answer any one question

9.

10.

wee Hfoy | g9+ gt @ a7 w1 87 2+3+1=6
Explain the principle and working of an electric generator by

drawing a labelled diagram. What is the function of brushes.
(A) i @ g ? 2+242=6

(B) #fa & fiod @ gRT qaharll Y&Ie & aruacT o1 fRoT s & |

15



(C) R yHre BT v e ¥ oy g weer # 1 few | ure W
@ quit B B A fad |

(A) What is prism ?

(B) Draw a ray diagram of refraction of monochromatic light
through a glass prism.

(C) What do you mean by dispersion of white light. Write the order
of colours of spectrum obtained from a prism.

g1 I (Chemistry)

ofg Sadiy 9= (Short Answer Type Questions)

mﬂ@ﬂﬂ@wazﬁageﬂﬁuﬁ%a%w%!ﬁﬁﬁﬁﬁﬁ4wﬁmw

< (15x2=30)

Question no. 11 to 17 are short answer type questions. Give answer any four
question out of eight short answer type questions.

(15x2=30)

1 o UE aR® B d 2 areh IR B uh IEEE wHE
ford | | 2
Write a chemical equation of a reaction taking place between an
acid and a base.

1o GeTEd) SffRa ¥ AT FE G & 7 Uh SRy I | 2

What do you mean by exothermic reaction? Give an example.

20



13.

14,

15.

18.

17.

pH T&d 1 2 ? Ud SIS 9 @1 pH A4 fad | 2
What is a ph scale? Write pH value of a neutral solution.

ST JATTAISS T BRI &7 & IHT—HH TSl BT IeER

T | 2
What are amphoteric oxides? Give two examples of amphoteric
oxides.

amafae AfrE BT TeHE ST F®T BT & ? 2
Why do ionic compounds have high melting points?

FrdT STgaitRag CO, @ gerag favg wvam fagm | 2
Show the electron dot structure of carbon dioxide (CO;)

P(15) 3k Ar(18) &1 galagie fa=arg fadd | 2

Write down electronic configuration of P(15) and Ar (18).

<l 9afig 999 (Long Answer Type Questions)

fordl T T T IAN T |

Answer any one guestion

18.

19.

gTgent @ Hifie @ Tt IO gH B e B | 5
Describe the physical and chemical properties of metals

I atrei ARON ¥ el BT FESIDT, AT bR SR efas 1d
enfeass o Gwt @1 ygiy d1 FHed | | 5
Explain the trends of valency, atomic size and metallic and non-

metallic characters of elements present in modern periodic table.

21



Sflg_fas= (Biology)

g IR 949 (Short Answer Type Questions)

TS EEAT 20 | 26 Oh oY SN DI D geF B TH W fhEl 4 we @ SR

= (15x2=30)

There are short answer type questions from question no. 20 to 26. Give

answer any four question out of eight short answer type questions.

(15x2=30)
20.  (A) % &I AHifea o | 1+1=2
Draw well labelled diagram of stomata.
(B) & & =0 B @1 7 ?
What is the main function of stomata?
21.  ufcred! v & R & @@ yfier 27 2

What is the role of brain in reflex action?
22.  €l0 0 Yo & UfApfd §9MT S @ g savas Ty 87
Why is copying of DNA is an essential part of the process of
reproduction ?
23, Ag H g2 o1 foiwT FgRor o9 gem & ?
How is the sex of the child determined in human beings?

24, T BT & Ol 3fe &1 F¥Ee AgT g ?

What happens when the egg is not fertilized?

22



05, GRds # SruRISREl WY fFeT Bl ® 7
What is the role of decomposers in an ecosystem?
6.  HUING WU W A9 FT A 87

What do you mean by sustainable management?

A sadlm u (Long Answer Type Questions)
frsY UH U BT SR G |

Answer any one question

27. W(Wﬁ)ﬁﬂm@ﬁ—ﬁﬁwmﬁaﬁﬁim 5
Describe the structure and functions of nephrons.

28. gﬂqaﬁaﬁ%ﬁmaﬂwmﬂ%mﬁamqﬁg&r%ﬁﬁﬁrwﬁa%
R # fored | 5
Draw a labelled diagram of the longitudinal section of a flower and

mention the different parts of the flower.

e —
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